

وهي عبارة عن مجموعتين متساويتين دلالة $a^2 + ab + b^2$ و $a^2 - ab + b^2$

$$(x - H)^n > x^n - nx^n + \frac{n(n-1)}{2}x^{n-2} + \dots + \frac{n(n-1)\dots(n-k+1)}{k!}x^{n-k} + \dots + (-1)^n$$

$$G_{\text{ext}} \propto t^{-\alpha} \quad \checkmark$$

4

الله تعالى يعذب كل من يرتكب جنحة

$$(x - \frac{p\sqrt{p}}{2})^2 \leq x^2 - \frac{p^2\sqrt{p}}{4}x + \frac{p^2\sqrt{p}}{4} - b$$

$$\left[\frac{b}{a} \right] = \left[\frac{\sqrt{n^2 - 1}}{n^2} \right] \rightarrow \left[\frac{\sqrt{n^2 - 1}}{n^2} \right] = \left[\frac{\sqrt{\frac{n^2 - 1}{n^2}}}{1} \right] = -1 \quad \checkmark$$

6

$$\lim_{\substack{x \rightarrow 1^+ \\ \text{from below}}} \frac{[-x] + a}{\sqrt[n]{x^2 + a^2} + a} = \infty \rightarrow [-x] + \frac{[-\sqrt[n]{x^2 + a^2}]}{n} + a = \infty$$

11

$$\left| \frac{\sqrt{p}}{2} \left(\frac{\sqrt{p}}{2} \right) + a \right| \rightarrow a \leq 0 \rightarrow \frac{1}{2} + a + 0 \leq 0 \rightarrow 1 + 2a \leq 0 \rightarrow a \leq -\frac{1}{2} \rightarrow a \leq -\frac{1}{2}$$

$$[a] > \left[\frac{-1}{y} \right] =$$

$$\lim_{n \rightarrow \infty} 14n - \left[-\frac{m}{n} \right] \rightarrow -\infty - (-\infty) \cdot 1 \sim \infty \neq 0.$$

$$x \rightarrow \left(-\frac{1}{x}\right)^{+} \propto x + \left[\frac{m}{x^p}\right]$$

$$\lim_{n \rightarrow \infty} \frac{1}{n} - \frac{1}{n^2} < -1 \rightarrow \frac{1}{n^2} > -1 \rightarrow \frac{-1}{n^2} < -1 - \left[\frac{-1}{n^2} \right] > -1$$

$$\frac{z}{x} > 1^2 \quad \left[\frac{z}{x} \right] > 1^2$$

$$-1P + 1P, \text{ so } \approx 0^\circ$$

$$+\frac{1}{z} + \infty$$

$$\lim_{n \rightarrow \infty} \frac{x^n - \epsilon}{x^n - [x^n]}$$

$$\sim [x^n] \cancel{[x^n]} \rightarrow [1^n] = 1$$

(Y)

$$\frac{(n-1)(n-2)}{(2-1)(n-1+1-n)} \leq \frac{x^n}{x^n + \epsilon + n} \leq \frac{\epsilon}{1^n} = \frac{1}{n}$$

$$\lim_{n \rightarrow \infty} \frac{x^n \ln(n+1)}{n+4\sqrt[n]{n}} \stackrel{HOP}{\rightarrow} \frac{\ln(n+1)}{1} \sim \frac{(n+1) \cdot (1/n \sqrt[n]{n})}{1}$$

(Y)

$$\lim_{n \rightarrow \infty} \frac{\sqrt{n+m} - \sqrt{n-m}}{\sqrt{1-\cos n}} \times \frac{\sqrt{1+\cos n}}{\sqrt{1+\cos n}} \sim \frac{\sqrt{n+m} + \sqrt{n-m}}{1}$$

(Y)

$$\lim_{n \rightarrow \infty} \frac{k + \cos(\sqrt{n} \pi)}{k n^2} \stackrel{HOP}{\rightarrow} \frac{-\sqrt{a} \sin \sqrt{a} \pi}{\sqrt{a} k}$$

$$\sim \frac{-\sqrt{a} \times \sqrt{a} \pi}{\sqrt{a} k} = \frac{-a \pi}{k} = -a \cdot 4k \rightarrow a = -4k$$

(Y)

$$\frac{a}{k} \rightarrow \frac{-4k}{k} = -4$$

$$\lim_{x \rightarrow 0^+} \frac{\sqrt{2-x^2} + \sqrt{2} - \sqrt{2}}{\sqrt{2-x^2}} \xrightarrow[0^-]{\substack{\sqrt{(2-x^2)} \times \sqrt{2-x^2}}} \frac{(1 + \frac{x^2}{\sqrt{2-x^2}}) \sqrt{2-x^2}}{\sqrt{2-x^2}} \xrightarrow[0^-]{\substack{\sqrt{2-x^2} \times \sqrt{2-x^2}}} \frac{(1 + \frac{x^2}{\sqrt{2-x^2}})(\sqrt{2-x^2} + \sqrt{2-x^2})}{\sqrt{2-x^2} + \sqrt{2-x^2}} \xrightarrow[0^-]{\substack{\sqrt{2-x^2} \times \sqrt{2-x^2}}} \frac{\sqrt{4x^2}}{2x} \times 1 \times \frac{1}{\sqrt{4x^2}} \checkmark$$

$$\lim_{x \rightarrow -1^+} \frac{1-k^2}{x^2-1} \xrightarrow[0^+]{\substack{-1 \\ 1+k \\ 1+k}} \frac{1+k}{x^2-1} \xrightarrow[0^+]{\substack{1+k \\ 1+k}} \frac{1+k}{-2k} \xrightarrow[0^+]{\substack{1+k \\ 1+k}} k > -1 \quad \text{10}$$

$$\frac{1+k}{x^2-1} \xrightarrow[0^+]{\substack{1+k \\ 1+k}} \frac{1+k}{-2k} \xrightarrow[0^+]{\substack{1+k \\ 1+k}} 1+k < 0 \quad \text{4k} < -1 \quad k < -\frac{1}{4}$$

$$-1 < k < -\frac{1}{4} \rightarrow -\pi < k\pi < -\frac{\pi}{4}$$

